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NEW QUESTION 1
Select the equivalent LOGISTIC procedure model statements. (Choose two.)

A. Mode1 Purchase * Gender Age Region;
B. Mode1 Purchase * Gender | Age | Region;
C. Mode1 Purchase * Gender|Age|Region @1;
D. Mode1 Purchase * Gender|Age|Region @2;

Answer: AC

NEW QUESTION 2
Identify the correct SAS program for fitting a multiple linear regression model with dependent variable (y) and four predictor variables (x1-x4).

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 3
Suppose training data are oversampled in the event group to make the number of events and non-events roughly equal. A logistic regression is run and the
probabilities are output to a data set NEW and given the variable name PE. A decision rule considered is, "Classify data as an event if probability is greater than
0.5." Also the data set NEW contains a variable TG that indicates whether there is an event (1=Event, 0= No event).
The following SAS program was used.

What does this program calculate?

A. Depth
B. Sensitivity
C. Specificity
D. Positive predictive value

Answer: B

NEW QUESTION 4
Refer to the exhibit:
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SAS output from the RSOUARE selection method, within the REG procedure, is shown. The top two models in each subset are given.
Based on the AIC statistic, which model is the champion model?

A. Age Weight RunTime RunPulse MaxPulse
B. Age Weight RunTime RunPulse RestPulse MaxPulse
C. RestPulse
D. RunTime

Answer: A

NEW QUESTION 5
The question will ask you to provide a missing statement. Given the following SAS program:

Which SAS statement will complete the program to correctly score the data set NEW_DATA?

A. Scoredata data=MYDIR.NEW_DATA out=scores;
B. Scoredata data=MYDIR.NEW_DATA output=scores;
C. Scoredata=HYDIR.NEU_DATA output=scores;
D. Scoredata=MYDIR,NEW DATA out=scores;

Answer: D

NEW QUESTION 6
What is a drawback to performing data cleansing (imputation, transformations, etc.) on raw data prior to partitioning the data for honest assessment as opposed to
performing the data cleansing after partitioning the data?

A. It violates assumptions of the model.
B. It requires extra computational effort and time.
C. It omits the training (and test) data sets from the benefits of the cleansing methods.
D. There is no ability to compare the effectiveness of different cleansing methods.

Answer: D

NEW QUESTION 7
Refer to the ROC curve:

As you move along the curve, what changes?
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A. The priors in the population
B. The true negative rate in the population
C. The proportion of events in the training data
D. The probability cutoff for scoring

Answer: D

NEW QUESTION 8
Spearman statistics in the CORR procedure are useful for screening for irrelevant variables by investigating the association between which function of the input
variables?

A. Concordant and discordant pairs of ranked observations
B. Logit link (log(p/1-p))
C. Rank-ordered values of the variables
D. Weighted sum of chi-square statistics for 2x2 tables

Answer: C

NEW QUESTION 9
Refer to the REG procedure output:

The Intercept estimate is interpreted as:

A. The predicted value of the response when all the predictors are at their current values.
B. The predicted value of the response when all predictors are at their means.
C. The predicted value of the response when all predictors = 0.
D. The predicted value of the response when all predictors are at their minimum values.

Answer: C

NEW QUESTION 10
Screening for non-linearity in binary logistic regression can be achieved by visualizing:

A. A scatter plot of binary response versus a predictor variable.
B. A trend plot of empirical logit versus a predictor variable.
C. A logistic regression plot of predicted probability values versus a predictor variable.
D. A box plot of the odds ratio values versus a predictor variable.

Answer: B

NEW QUESTION 10
Refer to the confusion matrix:

Calculate the sensitivity. (0 - negative outcome, 1 - positive outcome) Click the calculator button to display a calculator if needed.

A. 25/48
B. 58/102
C. 25/B9
D. 58/81

Answer: A

NEW QUESTION 11
This question will ask you to provide a missing option.
Complete the following syntax to test the homogeneity of variance assumption in the GLM procedure:
Means Region / <insert option here> =levene;
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A. test
B. adjust
C. var
D. hovtest

Answer: D

NEW QUESTION 15
Refer to the following odds ratio table:

What is a correct interpretation of the estimate?

A. The odds of the event are 1.142 greater for each one dollar increase in salary.
B. The odds of the event are 1.142 greater for each one thousand dollar increase in salary.
C. The probability of the event is 1.142 greater for each one dollar increase in salary.
D. The probability of the event is 1.142 greater for each one thousand dollar increase in salary.

Answer: B

NEW QUESTION 16
Refer to the exhibit.

Based on the control plot, which conclusion is justified regarding the means of the response?

A. All groups are significantly different from each other.
B. 2XL is significantly different from all other groups.
C. Only XL and 2XL are not significantly different from each other.
D. No groups are significantly different from each other.

Answer: C

NEW QUESTION 19
Given the following GLM procedure output:

Which statement is correct at an alpha level of 0.05?
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A. School*Gender should be removed because it is non-significant.
B. Gender should be removed because it is non-significant.
C. School should be removed because it is significant.
D. Gender should not be removed due to its involvement in the significant interaction.

Answer: D

NEW QUESTION 20
Refer to the exhibit:

An analyst examined logistic regression models for predicting whether a customer would make a purchase. The ROC curve displayed summarizes the models.
Using the selected model and the analyst's decision rule, 25% of the customers who did not make a purchase are incorrectly classified as purchasers.
What can be concluded from the graph?

A. About 25% of the customers who did make a purchase are correctly classified as making a purchase.
B. About 50% of the customers who did make a purchase are correctly classified as making a purchase.
C. About 85% of the customers who did make a purchase are correctly classified as making a purchase.
D. About 95% of the customers who did make a purchase are correctly classified as making a purchase.

Answer: C

NEW QUESTION 21
An analyst has a sufficient volume of data to perform a 3-way partition of the data into training, validation, and test sets to perform honest assessment during the
model building process.
What is the purpose of the test data set?

A. To provide a unbiased measure of assessment for the final model.
B. To compare models and select and fine-tune the final model.
C. To reduce total sample size to make computations more efficient.
D. To build the predictive models.

Answer: A

NEW QUESTION 25
Refer to the exhibit:
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The plots represent two models, A and B, being fit to the same two data sets, training and validation.
Model A is 90.5% accurate at distinguishing blue from red on the training data and 75.5% accurate at doing the same on validation data. Model B is 83% accurate
at distinguishing blue from red on the training data and 78.3% accurate at doing the same on the validation data.
Which of the two models should be selected and why?

A. Model
B. It is more complex with a higher accuracy than model B on training data.
C. Model
D. It performs better on the boundary for the training data.
E. Model
F. It is more complex with a higher accuracy than model A on validation data.
G. Model
H. It is simpler with a higher accuracy than model A on validation data.

Answer: D

NEW QUESTION 29
One common approach for predicting rare events in the LOGISTIC procedure is to build a model that disproportionately over-re presents those cases with an event
occurring (e.g. a 50-50 event/non-event split).
What problem does this present?

A. All parameter estimates are biased.
B. Only the intercept estimate is biased.
C. Only the non-intercept parameter estimates are biased.
D. Sensitivity estimates are biased.

Answer: B

NEW QUESTION 31
A marketing campaign will send brochures describing an expensive product to a set of customers. The cost for mailing and production per customer is $50. The
company makes
$500 revenue for each sale.
What is the profit matrix for a typical person in the population?
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 32
A marketing manager attempts to determine those customers most likely to purchase additional products as the result of a nation-wide marketing campaign.
The manager possesses a historical dataset (CAMPAIGN) of a similar campaign from last year.
It has the following characteristics:
? Target variable Respond (0,1)
? Continuous predictor Income
? Categorical predictor Homeowner(Y,N)
Which SAS program performs this analysis?

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 36
......
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